DTI CSD QBI

Where error occurs

27% 27%
119% 62% 1% % 65%
No Error

|
______I___

Eucl. Distanceto ™ w000 1500
6000
Error (mm)  soo
4000
2000
1000
WM : 2 | .
0 5 10 15 20 25
Streamline **
Length To Error s
(mm) 2000 .
- Eucl. distanceto all
1000 BDA-occupied
WM 00 10 20 30 40 0 10 20 30 40 VOXG' S

3000 7000

BDA Density @ ,,,,

6000

Error 2000 s000
F 4000 [
1500
3000
1000

2000

WM 500 1000

0
0 5 10 15 20 25 30 5 10 15 20 25 30

_-____100___-_-__100__—____
H 80 80
% BDA Density 60
Represented # 40

20

<6 7-12 13-18 19-24 25-30 31+

BDA density

20 distribution

0
7% 712 13181924 2530 31+ <6 7-12 13-18 19-24 2530 31+ <6 712 [13:18.19:24 12550 314



